
IEim 

.QiłJi29em�l Sem 
!flt236em�l Sem 

fit4med® 
Wall Mounted 
Parking Rack 
Manuał 

I 

Product accessories 

13 

I 

4 

1. Horizontal hanging bracket x 1

3. Align the top two 
holes of bracket (1) and 
bracket (2) and thread 
them anto the bolts 
inside the wali holes.

4. Screw on the four 
nuts and tighten them 
with a wrench.2. Vertical hanging bracket x 1

3. Frame cushion x 1

4. M8x80 Expansion screw x4

5. 13+ 14 double sided wrench x 1

lnstallation steps 

2 

1. First, mark the four

hole positions of the

expansion screw on the

wall with a marker pen

1 
2. Use the drilling machine with

6. lnstallation
completted

a diameter equal to or greater

than expansion

i

screw( specyfication M8x80) to

drill holes in the marked areas

(drilling bit needs to be 

prepared by oneself) and insert

the bolts.

I 

ft4med® 

Importer: Mona 

Leszczynowa 8 

62-070 Dąbrówka; Poland 

Made in PRC

fit4med® 
Wieszak 
ścienny na 
rower

W zestawie:

1. Uchwyt poziomy x 1
2. Uchwyt pionowy x 1
3. Podkładka do ramy x 1
4. Śruba rozprężna M8x80 x 4
5. Klucz dwustronny 13 + 14 x 1

Montaż:
2

Najpierw oznacz cztery 
miejsca na otwory śrub 

rozprężnych na ścianie za 
pomocą markera.

Użyj wiertarki o średnicy 
równej lub większej niż 
śruba rozprężna 
(specyfikacja M8x80), aby 
wywiercić otwory w 
zaznaczonych miejscach 
(wiertło należy przygotować 
samodzielnie) i włożyć śruby

13 4 

3. Wyrównaj górne dwa 
otwory uchwytu (1) i 
uchwytu (2) i wkręć je 
na śruby w otworach w 
ścianie.

4. Nałóż cztery nakrętki i 
dokręć je kluczem

6. Montaż zakończony

5. Attached the (3) cushion 
to the (1) load-bearing area. 
(To prevent the frame paint 
from being scrapped off)

Attention:
Please confirm the wall material and do not use it on 
hollow walls/gypsum board walls
Please do not install in pedestrian walkways to avoid 
collissions
Pls keep the wheels clean to avoid contaminating the 
walls

Przymocuj podkładkę (3) 
do strefy nośnej (1). (Aby 
zapobiec zarysowaniom 
farby na ramie)

Uwaga:

Proszę upewnić się, jaki jest materiał ściany i nie 
montowaćuchwytu na ścianach pustych lub gipsowo-
kartonowych.
Proszę nie instalować go w przejściach dla pieszych, aby 
uniknąć kolizji.
Proszę dbać o czystość kół, aby uniknąć zabrudzenia ścian.

fit4med® 

Importer: Mona 

Leszczynowa 8 

62-070 Dąbrówka; Poland 

Made in PRC




